
P.T.O.

BPY-010BPY-010

No. of Printed Pages : 6 BPY–010

BACHELOR’S DEGREE PROGRAMME (BDP)

Term-End Examination

June, 2024

BPY-010 : EPISTEMOLOGY

Time : 3 Hours  Maximum Marks : 100

Note : Answer all five questions. All questions carry

equal marks. Answer to Q. No. 1 and Q. No. 2

should be in about 400 words each.

1. Write an essay on Indian philosophical theories of

inference. 20

Or

Discuss in detail Descartes’ and Locke’s theory of

knowledge. 20

2. Define the correspondence theory of truth. Explain the

basic assumptions of this theory. 20

Or

What is foundationalism ? What is/are the main

assumption(s) and significance of foundationalism ?

20

3. Answer any two of the following questions in about

200 words each :

(a) Briefly explain ordinary and extraordinary

perception. 10

(b) Discuss Hume’s arguments for “association of

ideas”.

(c) How does Kierkegard criticize the ‘objectivity

of knowledge’ ? Discuss. 10

(d) Differentiate between Pragmatic and Neo-

pragmatic theories of truth. 10

4. Answer any four of the following questions in about

150 words each :

(a) Write short note on Methodological continuity. 5

(b) Briefly explain the characteristic features of

Feminist Epistemology. 5

(c) Write a note on the logical structure of a sentence

according to Nyaya Philosophy. 5

(d) Briefly discuss ‘inductive method’. 5

(e) What is constructivist’s approach to

perception ? 5

(f) Write a short note on sphota theory. 5
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5. Write short notes on any five of the following in about

100 words each :

(a) Knowledge as social praxis. 4

(b) Vyapti. 4

(c) Skepticism of Hume 4

(d) Synthetic a Priori Knowledge. 4

(e) Cartesian doubt 4

(f) Contextual continuity 4

(g) Determinate Perception 4

(h) Derrida’s critique of the subject. 4
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Lukrd mikf/k ikB~;Øe (chMhih)

l=kar ijh{kk

twu] 2024

ch-ih-okbZ--010 : Kkuehekalk

le; : 3 ?k.Vs vf/kdre vad : 100

uksV % lHkh ik¡p iz'uksa ds mÙkj nhft,A lHkh iz'uksa ds vad leku

gSA iz'u Øekad 1 ,oa 2 ds mÙkj yxHkx 400-400 'kCnksa

esa nhft,A

1. vuqeku lEcU/kh Hkkjrh; nk'kZfud fl¼kUrksa ij fucU/k

fyf[k,A 20

vFkok

nsdkrZ vkSj ykWd ds Kku&fl¼kUrksa dh foLr`r ppkZ

dhft,A 20

2. lR; ds laokfnrk fl¼kUr dks ifjHkkf"kr dhft,A bl fl¼kUr

dh ewyHkwr iwokZekU;rkvksa dh O;k[;k dhft,A 20
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vFkok

vk/kkjokn D;k gS\ vk/kkjokn dh eq[; iwokZekU;rk vkSj

egRo D;k gS\ 20

3. fuEufyf[kr esa ls fdUgha nks iz'uksa ds mÙkj yxHkx 200-200

'kCnksa esa nhft, %

(v) ykSfdd vkSj vykSfdd izR;{k dh laf{kIr O;k[;k

dhft,A 10

(c) ßfopkjksa ds lkgp;ZÞ ds fy, áwe dh ;qfDr;ksa dh

ppkZ dhft,A 10

(l) fddsZxknZ Kku dh oLrqfu"Brk dh vkykspuk dSls djrk

gS\ ppkZ dhft,A 10

(?k) lR; ds iz;kstuoknh vkSj uo&iz;kstuoknh fl¼kUrksa ds

e/; vUrj dhft,A 10

4. fuEufyf[kr esa ls fdUgha pkj iz'uksa ds mÙkj yxHkx 150-150

'kCnksa esa nhft,A

(d) i¼frijd lkrR; ij laf{kIr fVIi.kh fyf[k,A 5

([k) ukjhoknh Kkuehekalk dh pkfjf=d fo'ks"krkvksa dh laf{kIr

O;k[;k dhft,A 5

(x) U;k; n'kZu ds vuqlkj okD; dh rkfdZd lajpuk ij

fVIi.kh fyf[k,A 5
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(?k) ßvkxeu i¼frÞ dh laf{kIr ppkZ dhft,A 5

(³) izR;{k lEcU/kh lajpukRed n`f"Vdks.k D;k gS\ 5

(p) LQksV fl¼kUr ij laf{kIr fVIi.kh fyf[k,A 5

5. fuEufyf[kr esa ls fdUgha ik¡p ij yxHkx 100-100 'kCnksa esa

laf{kIr fVIi.kh fyf[k,A

(d) lkekftd vH;kl@vknr ds :i esa Kku 4

([k) O;kfIr 4

(x) áwe dk la'k;okn 4

(?k) la'ys"k.kkRed izkXuqHkkfod Kku 4

(³) dkrhZ; lansg (nsdkrZ dk lansgokn) 4

(p) ifjfLFkfrtU;@lanHkZxr lkrR; 4

(N) lfodYid izR;{k 4

(t) nsfjnk }kjk fo"k;h dh vkykspuk 4

***
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